## FAIRFIELD TOWNSHIP RESOLUTION NO. 20-166

RESOLUTION TO APPROVE PURCHASE OF EMERGENCY LIGHTS, SIRENS, PRISONER TRANSPORT SEAT/BARRIER AND LABOR FROM P&R COMMUNICATIONS FOR THE SIX (6) SUV INTERCEPTORS FOR THE POLICE DEPARTMENT IN THE TOTAL AMOUNT OF \$112,103.94.

WHEREAS: The purchase of the emergency lights, sirens, prisoner transport seat/barriers are necessary for the safe operation of Police Department vehicles especially to transport individuals who may be infected with COVID-19; and

**WHEREAS:** The total cost of the emergency lights, siren, prisoner transport seat/barriers are \$112,103.94 and will be purchased out of the Coronavirus Relief Fund 2272;

**NOW, THEREFORE, BE IT RESOLVED,** by the Board of Trustees of Fairfield Township, Butler County, Ohio, as follows;

- **SECTION 1:** The Board hereby approves the purchase of emergency lights, siren, prisoner transport seat/barrier and labor to outfit six (6) SUV Interceptors from P&R Communication in the total amount of \$112,103.94, attached hereto as Exhibit "A".
- **SECTION 2:** The Board hereby dispenses with the requirement that this resolution be read on two separate days, pursuant to RC 504.10, and authorizes the adoption of this resolution upon its first reading.
- SECTION 3 This resolution is the subject of the general authority granted to the Board of Trustees through the Ohio Revised Code and not the specific authority granted to the Board of Trustees through the status as a Limited Home Rule Township.
- SECTION 4: That it is hereby found and determined that all formal actions of this Board concerning and relating to the passage of this Resolution were taken in meetings open to the public, in compliance with all legal requirements including §121.22 of the Ohio Revised Code.
- **SECTION 5:** This resolution shall take effect at the earliest period allowed by law.

Adopted: October 14, 2020

Board of Trustees	Vote of Trustees
Shannon Hartkemeyer:	
Joe McAbee:	
Susan Berding	
This is to certify that this is a resolution which was Fiscal Officer this 4	duly passed, and filed with the Fairfield Township
	est: hllySchulfz
Shel	ly Schultz, Pairfield Township Fiscal Officer
A DD	DOVED AS TO FORM.

wrence E. Barbiere, Township Law Director



731 East First Street
Dayton 45402-1383
(937) 512-8100

736 Vandemark Rd Sidney, OH 45365

4910 Wynnscape Drive Oregon, OH 43616

14792

TO: Fairfield Township Police Dept Attn: Chief Robert Chabali 6485 Vonnie Vale Court Hamilton, OH

## **QUOTATION**

QUOTE NO.: 38605 - 00 EC

DATE:

10/12/20

TERMS:

NET 15 DAYS

DELIVERY: UNITED PARCEL SERVIC

Please reference Quote No. on Correspondence & purchase orders. Prices firm for 30 days.

## WE ARE PLEASED TO QUOTE YOU THE FOLLOWING:

QTY	DESCRIPTION	UNIT PRICE	TOTAL
1	FEDERAL SIGNAL 53" ALLEGIANT 2-COLOR LIGHT BAR	1,449.00	1,449.00
1	PATHFINDER PF200S17 KIT WITH ES100C AND ESB BRACKET KIT EACH KIT INCLUDES: 1) PF200S17 1) ES100 1) ESB-FPIUND20ND	939.00	939.00
1	FEDERAL SIGNAL 25 FOOT OBD CABLE 2020 FORDPI SUV	115.00	115.00
1	RUMBLER WOOFERS FOR PATHFINDER EACH KIT INCLUDES: RUMBLER WOOFERS AND BRACKET	299.00	299.00
2	FEDERAL SIGNAL MICROPULSE ULTRA 12 LED BLUE/RED	90.00	180.00
6	SOUNDOFF MPOWER 3" FASCIA STUD MOUNT BLUE	99.00	594.00
2	SOUNDOFF UNIVERSAL UNDERCOVER SCREW IN LED INSERT BLUE	99.00	198.00
2	SOUNDOFF UNIVERSAL UNDERCOVER SCREW IN LED INSERT BLUE/WHITE	99.00	198.00
2	SOUNDOFF REPLACEMENT COLLAR KIT Continued on following page	5.00	10.00



QTY	DESCRIPTION	UNIT PRICE	TOTAL
4	FEDERAL SIGNAL IPX6 IMPAXX BLUE/WHITE	99.00	396.00
1	FEDERAL SIGNAL CN SIGNALMASTER REAR FACING 4 HEAD RED/BLUE SIGNALMASTER 4 HEAD RED/BLUE DUAL COLOR SPLIT	499.00	499.00
1	FEDERAL SIGNAL CN SIGNALMASTER FRONT FACING 4 HEAD BLUE/WHITE SIGNALMASTER 4 HEAD BLUE/WHITE DUAL COLOR SPLIT	499.00	499.00
2	FEDERAL SIGNAL CN SIGNALMASTER UNIVERSAL MOUNT BRACKET	49.00	98.00
1	FEDERAL SIGNAL IMPAXX/VIPER L BRACKET	69.00	69.00
1	HAVIS 2020 FORD INTERCEPTOR UTILITY PREM PASS SIDE MT PKG	699.00	699.00
1	HAVIS 2020 FORD INTERCEPTOR UTILITY SPECIFIC ANGLED CONSOL CONSOLES INCLUDE BRACKET C-EB40-SSP-1P	399.00	399.00
1	HAVIS CON, ACSY, CUPHOLDER, 4 MS, IM, DUAL	54.00	54.00
1	HAVIS SIDE MOUNTED FLIP UP ARMREST	119.00	119.00
1	HAVIS SHIELD ACCESSORY POCKET	45.00	45.00
1	HAVIS DEVMT, PRNTR, BRO, PCKT JT, 6MS, INUT, 2020	199.00	199.00
1	HAVIS 2 LIGHTER PLUG OUTLET W/1 USB CUT OUTS	119.00	119.00
1	D&R ELECTRONICS POWER DISTRIBUTION UNIT Continued on following page	339.00	339.00



QTY	DESCRIPTION	UNIT PRICE	TOTAL
1	MIC CLIP MOUNTING BRACKET	14.00	14.00
2	MAGNETIC MIC HANGER	35.00	70.00
1	PROGARD PRISONER TRANSPORT PARTITION CENTER SLIDE POLY	699.00	699.00
1	PROGARD REAR TRANSPORT SEATS WITH OUTBOARD SEAT BELTS	1,279.00	1,279.00
1	PROGARD REAR WINDOW BARS	199.00	199.00
2	RAPID ADJUST UNIVERSAL GUN RACK WITH NEW SC-6 XL LOCK	299.00	598.00
1	PROGARD HD PUSH BUMPER W/2 WHELEN ION DUO B/W	799.00	799.00
4	WHELEN 3" ROUND RED/WHITE	69.00	276.00
2	SOUNDOFF NLINE 60" RUNNING LIGHT W/BRACKET MT BLUE/WHITE	449.00	898.00
1	HAVIS DEVMT, DOCKST, DELL, LAT 12-14, (3) HGANT	949.00	949.00
1	HAVIS LAPTOP SCREEN SUPPORT FOR DS-DELL-410 DOCKING STAT	79.00	79.00
2	FEDERAL SIGNAL 3 LED LIGHT HEAD, BLUE	99.00	198.00
1	STREAMLIGHT ULTRASTINGER LED FLASHLIGHT W/12V DC CHARGER	179.99	179.99
1	TREMCO ANTITHEFT SYSTEM 2020 FORD PI SUV	209.00	209.00
1	STOP STICK MOUNT TRAY	69.00	69.00
1	PROGARD TRUNK ORGANIZER, BLACK ABS, UNIVERSAL 18X18X10.5 Continued on following page	239.00	239.00



Omaz	DESCRIPTION	INITE DOTAG	потът	
QTY	DESCRIPTION	UNIT PRICE	TOTAL	
1	SPRING BRACKET FOR FIRE EXTINGUISHER	59.00	59.00	
1	SOUNDOFF LED DOME LIGHT - 6" ROUND W/RED LED NIGHT LIGHT	90.00	90.00	
1	SHIPPING AND HANDLING CHARGE	250.00	250.00	
1	INSTALL LABOR RATE GARAGE	3,799.00	3,799.00	
1	MISC PARTS	200.00	200.00	
1	SHOP SUPPLIES	15.00	15.00	
÷	**************************************			
	BUDGETARY QUOTE FOR FAIRFIELD TWP	Item summary	18,683.99	
	2020/21 FORD PI SUV'S	Subtotal	18,683.99	
		Sales Tax GRAND TOTAL:	.00 18,683.99	
ORDERS S	UBJECT TO SHIPPING & HANDLING AND SALES TAX IF APPLICABLE	TERMS SUBJ	ECT TO CREDIT REVIEW	
		I DRIVE GODE	ECT TO CREDIT REVIEW	
BY Ryan Stephens (937)512-8133 Ext ryan.stephens@prcdayton.com THIS QUOTE IS SUBJECT TO REVIEW BY MANAGEMENT FOR COMPLETENESS AND ACCURACY.				
Accepted by P.O. No				
	LEGAL NAME OF PURCHASER			
	AUTHORIZED SIGNATURE	Date		

